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Motif Version 

Materials: 

Shuttle and Ball 



 

Instructions: 

Round 1: 

R: 4 - 4 - 4 - 4. 

* CH: 6 - 6. 

R: 4 + (to last picot of previous ring) 4 - 4 - 4. 

CH: 12. 

R: 4 + (to previous ring) 4 - 4 - 4. 

Repeat from * until you have 8 rings and chains; finishing with the cha of 12 double stitches. 

Remember to join the last ring to the first one. Join the last chain to the base of the first ring. 

Don’t Cut. 

 

Round 2: 

CH: 5 - 5 - 5 - 5. 

* R: 4 - 4 - 4 - 4. 

CH: 5 - 2 — 2 - 5. 

R: 4 + (to previous ring) 4 + (to previous round chain’s picot) 4 - 4. 

CH: 5 - 5 - 5 - 5. 

Join between chains. 

CH: 5 + (to previous chain) 2 - 2 — 2 - 2 - 5. 

Join between chains. 

CH: 5 + (to previous chain) 5 - 5 - 5. 

Repeat from * around. Remember to join the last chain to the first one. 

Cut and hide ends. 



 

To make a beaded version add 40 beads on the shuttle 

and 40 on ball. Replace every decorative picot with 

beads as in the photo. 

On the first round the rings have 3 beads on the 

middle picot and 4 beads on the chains with picots. 

 

 

 

  



 

Ice Drop Version 

 

Materials: 

Shuttle and Ball 

¾” – 1” glass gem or button 

Thread #20 

 

NOTE: The Ice drop is done in one pass. You’ll make rings with letters (A, B, C, etc.) to make the back base 

and rings with letters and numbers (A1, B1, C1, etc.) to make the front base.  

Instructions: 

Round 1: 

Ring A: 5 – 3 – 5. Don’t RW. 

Ring A1: 5 – 3 – 5. RW. 

Chain: 6 – 6. RW. 

Ring B: 5 + (join to ring A) 3 – 5. Don’t RW. 

Ring B1: 5 + (join to ring A1) 3 – 5. RW. 

Chain: 12. RW. 



Repeat chains and rings until you have joined 6 rings on the back base. Start ring F1 and before joining 

to the 1
st

 ring on the front base insert the gem. Join to the 1
st

 ring on the front base (A1) and close ring. 

Join last chain to the middle of the 1
st

 ring on both bases. 

Don’t cut. 

 

Round 2: 

CH: 5 - 5 - 5 - 5. 

* R: 4 - 4 + (to picot in chain) 4 - 4. 

CH: 5 - 2 — 2 - 5. 

R: 4 + (to previous ring) 4 + (to previous round chain’s picot) 4 - 4. 

CH: 5 - 5 - 5 - 5. 

Join between chains. 

CH: 5 + (to previous chain) 2 - 2 — 2 - 2 - 5. 

Join between chains. 

CH: 5 + (to previous chain) 5 - 5 - 5. 

Repeat from * around. Remember to join the last chain to the first one. 

Cut and hide ends. 

 


